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Y(wiv1) = y(z) + f(i, yi)h + f/<xi>yi)}; (1)
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Y(wip1) = y(x;) + {Af (w5, 9:) + Bf (2 + ah,y; + bhf(xs,y:)) b (2)
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Bf(xri-ah,yz‘—i-bhf(%,yi)) = f(xiayi)+fm(xi7yi)ah"i_fy(xhyi)f(xi;yi)bh
(3)
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Y(wisr) = y(i) +(A+B) f (2, yi) b+ B{afo (i, yi) +f (i, 3:) fy (@i, )
(4)
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W) = (o) + U (ow) + Flot hoy(e) + b op))ye )



gbbboooobbbuoodobobbooodb

ki = f(xi,v:), 0 ko = f(xi + h,y(z;) + hky)
h

Y(wip1) = y(z;) + (kb1 + k2)§
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